A & ol & AF & Ml A

M =222l
& 200 M2+
= 210 24 &M=
8 1215 ArnPI LY (9 &
EN-FH-2-8.5 Ofl &FoH A 0 A od Hns2
ES Al 315,926,804 293,586,500 22,340,304
- xl 315,926,804 293,586,500 22,340,304
200 Mel=+=¢ 464,904 567,500 A 102,596
210 A XA A+ 464,904 464,904 0
215 A0 F 3+ 464,904 464,904 0
215-01 A4+ D234+ ¢ 464,904 464,904 0
(OEF=P Falb 1=g= 464,904
500 Ex2 315,461,900 293,019,000 22,442,900
510 = 1Ex3S 315,461,900 293,019,000 22,442,900
511 =2 18X3S 315,461,900 293,019,000 22,442,900
511-01 212X 3 248,177,900 256,223,000 A 8,045,100
osz=2 248,177,900
“HNASE Sl HEAY 53,900
-HIEEA HZAIE X2 1,700,000
-hERR E3XMelAE & 16,500, 000
A EsAY FUXR 110,000
-ot=2t1 Zdl XA 50,768,000
-23ot=HelAld &X 33,894,000
-s0HE02 ot=& FHl 30,711,000
-HHAIZ 3ot elAld X 4,643,000
-ot=HMel= MOlE At 3,175,000
-EA EUE 52,522,000
-=3ot=& WX Xt& st 9,300,000
—ZEHMelAE HEAS 693,000
-ot=2tJ1 BTLAIY 2= K= 40,952,000
-otx=HMeldd sihdels o4& 3,156,000
511-02 NS LHMELS|HEES 67,222,000 36,734,000 30,488,000
osz=s 67,222,000
“SHEMEES HLAY 41,276,000
“EAXSE AR oY 817,000
A2 =T AE B 5,383,000
-MEHSIA =SRAMY 19,746,000
511-03 213 62,000 62,000 0
OszZ==AH2eld3 62,000
=2y 2| 60,000
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